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1.(~8+4i)(1-i) _I

Which of the following is equivalent to the
complex number shown above?

Note: i = V-1
A. -12+4i

B. —12+12i
C. —4+12i
D. —4+4i
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2.(4 + D) _I

Which of the following is equivalent to the
complex number shown above?

Note: i = V-1

A. 15+8i

B. 15-8i

C. 17+8i

D. 17-8i
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.i* +4i* + 4 \

Which of the following is equivalent to the
complex number shown above?
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Note: i = V-1
A. 1

B. -1

C. 1+4
D.i—4
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4.(1+i)(1-i) _‘
Which of the following is equivalent to the
complex number shown above?

Note: i = +/—1

A. 2-2i

B. 2i

C. 0

D. 2
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5 i—16 \
Cit4

Which of the following is equivalent to the
complex number shown above?

Note: i = vV/—-1

A i-4

B. i+4
C. -i-4
D. -i+4
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610 .

Which of the following is equivalent to the
complex number shown above?
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Note: i =+v—1
AN

B.-1

C.i

D.-i
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3
T N .
Which of the following is equivalent to the
complex number shown above?
Note: i = V-1
A. 2-i
B. 2+i
C 6+31
D.

6+3i
5
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8.(5—7i+i%) + (8° +12)

The complex expression above is equivalent to the
expression a+bi for the integer constants a and b.
What is the value of a?

Note: i = /-1

A. 16

B. 17

C. 18

D. 19
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9.i'" + " _‘
Which of the following is equivalent to the
complex number shown above?

Note: i = V-1

A. -2i

B. 2i

C. 0

D. 2
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10.8ix = =5 \
What is the value of x in the equation above?

Note: i = V-1
8i

A ——

B.
C. —=
D.
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°1.—6i 1+61 . . .
Which of the following is equivalent to the
complex number shown above?
Note: i = V-1
A =i
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B.
c Lz
D
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12.P(n) =n?—-5n—7 \

What is the value of P(-3i)?
Note: i = V/—1

A. —4+15j

B. —7+12i

C. —-7+24i

D. -16+15i

B G A =AW, e TN P Y - A i s AT AT e A A L T A I R EEEEEE==—=————
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13.m?2+6m+10=0 \

Which of the following are solutions to the
equation above?

| -3+I

Il. -3-i

1. 3+i

Note: i = V-1
A. | only

B. land Il only
C. Iand lll only
D. I, I, and Il
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14.5 — i + (11 — i)z = 40 + 18i _‘
What is the value of z in the equation above?

Note: i =+/—1

A. z=-19+24i

B. z=24+20i

C. z=3+2i

D. z=3.2+145i
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15.2i + 4h — 14 = 2ih \

What is the value of h in the equation above?

Note: i = V-1

A. h=3+i
7
B. 'I—E |
C. h=7-I
_ 8
D) 'l—g
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